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SYLLOGISM
1. 2; Some kites are threads.  (I-Type)

No thread is needle.  (E-Type)
I + E  O-type Conclusion
“Some kites are not needles”
Conclusion II is Converse of the second
Premise.

2. 1; Some books are pens. (I-Type)
All pens are papers. (A-Type)
I + A    I-type Conclusion “Some books
are papers”.
Conclusion I is Converse of this derived
Conclusion.

3. 4; All chairs are buildings.
Some building are tables. (Converse of
Second Premise)
A + I = * No Conclusion

4. 3; No Conclusion follows from Particulars
Premises.
Conclusion I and II form Complementary
Pair. Therefore, either conclusion I or II
follows.

5. 5; All flowers are trees.
All trees are fruits.
A + A  A-type Conclusion
“All flowers are fruits.” This is Conclusion
II. Conclusion I is Converse of this Con-
clusion.

6. 2; Both the Premises are Universal
Affirmative (A-type).
Both the Premises are already aligned.
All pens are roads.
All roads are houses.
We know that,
A + A     A-type conclusion
Thus, our derived conclusion should be:
"All pens are houses".
Conclusion II is the converse of this
derived conclusion.

7. 5; First Premise is Particular Affirmative
(I-type).
Second Premise is Universal Affirmative
(A-type).
Both the premises are already aligned.
Some book are bags.
All bags are trees.
We know that,
I + A   I-type Conclusion
Thus, our derived Conclusion would be :
"Some books are trees".
This is the first Conclusion.
Second Conclusion is converse of this
Conclusion.

8. 4; First Premise is Particular Affirmative
(I-type).
Second Premise is Universal Negative (E-
type).
Both the Premises are already aligned :
Some windows are doors.
No door is chair.
We know that,
I + E    O-type conclusion
Thus, our derived conclusion should be :
"Some windows are not chairs".

9. 3; First Premise is Universal Affirmative
(A-type).
Second Premise is Particular Affirmative
(I-type).
Both the premises are already aligned.
All forests are figures.
Some figures are houses.
We know that,
A +1  No conclusion
Both conclusions form Complementary Pair.
Therefore, either I or II follows.

10.1; Both the Premises are Particular
Affirmative (I-type).
Both the Premises are already aligned.
We know that no conclusion follows from
Particular Premises. Conclusion I is the
converse of the first premise.

11. 1; Some bottles are jungles. (I)
All jungles are birds. (A)
I + A    I-type conclusion.
“Some bottles are birds”.
Conclusion I is converse of this
conclusion.

12. 3; Both the premises are of I-type.
Therefore, no conclusion follows.
But the given conclusions form
Complimentary pair.
Therefore, either I or II follows.

13. 4; All roads are waters. (A)
Some waters are boats. (I)
A + I  No conclusion

14. 5; All flowers are trees. (A)
No tree is fruit. (E)
A + E  E-type conclusion
“No flower is fruit”.
Conclusion I is Converse of this
Conclusion.
Conclusion II is Converse of first premise.
Conclusion II is Converse of the first
premise.

15. 2; Conclusion II is Converse of the first
premise.
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16. 4    17. 1       18. 3           19. 2 20. 2

21. 2  22. 2       23. 4   24. 1         25. 2

26. 1        27. 4      28. 1
29. 1; All the statements are of particular affir-

mative types. Hence, there will be no con-
clusion.

30.4; Some cats are rats + All rats are mats ie I
+ A = I hence ‘Some cats are mats’. Con-
clusion I is inverse of this conclusion. Con-
clusion III is inverse of the second premise.

31.3; Some benches are drums + All drums are
kites ie I + A = I. Hence ‘Some benches are
kites’. Conclusion II is inverse of the above
conclusion.

32. 2
33.3; Some tables are chairs + All chairs are

houses ie I + A = I. Hence ‘Some tables are
houses’. Conclusion III is the inverse of the
above conclusion. Again, All chairs are
houses + All houses are tents. ie A + A = A.
Hence ‘All chairs are tents’. Conclusion II
is the inverse of the above conclusion.

34. 4 35. 2 36. 1  37. 4 38. 3
39. 1 40. 5 41. 2 42. 3 43. 4

44. 1 45. 1 46. 1 47. 4 48. 3

49. 2

50. 1; All the three Premises are Particular. We
know that no Conclusion follows from the
Particular Premises.
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